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Throughput

Throughput dependence on frame period (channel width = 125 MHz, DL/UL = 50%, ARQ = on, GI = 1/8)
Modulation coding scheme MCS 0:
Modulation coding scheme MCS 3:
Modulation coding scheme MCS 7:

Throughput dependence on frame period (channel width = 125 MHz, DL/UL = 50%, ARQ = on, GI = 1/8)
Modulation scheme Frame period Packet size

64 bytes 512 bytes 1518 bytes 9038 bytes

MCS 0

0.1 ms 14.1 13.9 13.9 13.9

0.5 ms 21.4 21.4 21.4 21.3

5 ms 23.8 23.8 23.8 23.8

MCS 3

0.1 ms 90.1 90 90 90

0.5 ms 129.9 129.9 129.9 129.9

5 ms 143.1 143.1 143.1 143

MCS 7

0.1 ms 303 302.9 302.8 302.9

0.5 ms 433.8 433.8 433.8 433.7

5 ms 476.7 476.9 476.7 476.8

Modulation coding scheme MCS 0:

Modulation coding scheme MCS 3:
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Modulation coding scheme MCS 7:
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